Oefenblad: Erbijsommen tot 100 met drie decimalen

Rekenen - Bewerkingen

Oefening 1
38376 + ____ = 65069 ! 4677 + ____ = 64,738
Oefening 2
7,169 + ____ = 69,85 1 41353 + ____ = 92821
Oefening 3
30,819 + ____ = 68,542 i 66,697 + ____ = 93,380
Oefening 4
52,291 + ____ = 82,64OE 8621 + ____ = 58,384
Oefening 5
33,192 + ____ = 95373 E 35130 + ____ = 87,334
Oefening 6
87,294 + = 90,130 E 75,887 + = 82,918
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Oefenblad: Erbijsommen tot 100 met drie decimalen |

ANTWOORDEN

Rekenen - Bewerkingen

Oefening 1

38,3716 + 26,693 = 65,069 i 4,677 + 60,061 = 64,738
Oefening 2

7,169 + 62,685 = 69,854 E 41,353 + 51,468 = 92,821
Oefening 3

30,819 + 37,723 = 68,542 E 66,697 + 26,683 = 93,380
Oefening 4

52,291 + 30,349 = 82,640 i 8,621 + 49,763 = 58,384
Oefening 5

33,192 + 62,181 = 95,373 i 35130 + 52,204 = 87,334
Oefening 6

87,294 + 2,836 = 90,130 E 75,887 + 7,031 = 82,918
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